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@ sinA @SiHB @ cosB @ tanA ® tanB
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1 = — - — o|H 1 = o .
sin B T cos A T JE2, sinB = cos A ©|t}




P

I_‘lg tlo

I
o
tlo
HL
k=

, sinA, cosA, tanA 9] #=

717} vh2 A 23

Sl po--
b
@ sinA:c—l,cosA:—,tanAzc—l
Z c c
@ sinA:—,cosA:L—l,tanA:g
c g b
@sinA:L—Z,COSA:—,tanA:L—l
c c b
@ sinA:c—l,cosAzg,tanA:g
c b ll;
® sinA:L—Z,cosA:g,tanA:—
b c c
. =0] L] =l a
SIHAZ ]31% = 7COSA_]31_%: ,taHA:@ Z




oF2 AZtH] 9] BE H T sin 70° 4 cos 50° x sin 25° + tan 70° 9] =
T-SFH?
pAdey sin cos tan
25° 0.42 0.90 0.46
50° 0.76 0.64 1,19
70° 0.93 0.34 2.74
@ 3.9188 @ 3.9288 @ 3.9388
@ 3.9488 ® 3.9588

(F4]) = 0.93 +0.64 x 0.42 + 2.74
= 3.9388
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Atel TARRI EtHE
(sin) (cos) (tan)

52° 0,7880 0.6157 1.2799
i 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764

55° 0,8192 0.5736 1.4281
D 1.1932 @ 1.1933 @ 1.1934
@1.1935 ® 1.1936

B \

tan 54 ° = 1.3764
sin 53 ° = 0.7986
cos52° = 0.6157
. (F4]) = 1.3764 - 0.7986 + 0.6157 = 1.1935




the T o] A = 00° 2 42}
Ao A oA Hlde] W= 4
Aol kS | 2 5k, AB = V5em,
AC=2cm, /BAH=1x, /CAH=y
A o, cosx + cosy & Z2?
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o2 ™ol A cosA =

ol

o]i’"
, AC 9] do]&?

AH=12, BH=4V3 ¥

AB 8vV3 V3
COSA=—=— = —

AC C 2
. AC=16
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8.

= A9 gh2?
sin 60 ° x sin® 30 ° + cos 30 ° x sin? 60 °

®1 @? @? ® 5

B

sin 60 ° x sin® 30 ° + cos 30 ° X sin? 60 °

() 5 (%)




9.  sin0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60° =7

V3 V3 V6
@1—5_ ®1+? (@1—7
@1+76 @2—73

sin 0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60°

2
zoxé—i—lxl—ix«ﬁ

2
V6
=1- —
2




10. olARIRA ¢ -3 = 02 WESHE x 9] Zho] tana o] Fh 2 1,
sinAcosA ] Z2? (F,0°<A<90°)

@ @

®@

ol
> =

V3 3V3
@F oF

N —

x2 =3 =0 A
¥ =3, . x=V3( x>0)
tanA = V3, ©. A=60°(-0°<A<90°)

V3 1 V3
4

sin A cos A = sin60° X cos 60° = - X 3=




11. o3 I3 o] HugdH 919 94 0 & THLRE ofal vix]&9]
Z10]7} 1 ¢l AR A] sin 50° + tan 50° — sin 40° 2] ZH-&?

Yy
1.20 ¢
1
A
0.77
50° B D
¢ 0.64 1 =z

O 0.21 @ 0.64 ® 1.07 @1.33 ® 2.61

0.774+1.20 — 0.64 = 1.33




12. thS I39] AABC oA AHZHH] 9] 2 BT AABC o] Ed)9] dolE

“FobHA?
10
1/ 340
A

Ze sin cos tan

54° | 0.8090 0.5878 1.8764

55° 0.8192 0.5736 1.4281

56° | 0.8290 0.5592 1.4826
@ 5.592 @ 8.29 3 13.882
@®)23.882 ® 29.107

AB = 10 x sin 56° = 10 x 0.829 = 8.29

BC = 10 x cos 56° = 10 x 0.5592 = 5.592

wtatA AABC o] Ed9] Zo]= 10 + 8.29 + 5.592 = 23.882
o|ch.




13. o3 93} Zo] aABC 9
4 BCLAD, ACLDE, /ABD =
o]

/DAE = 60°, AB = 10cm &
o, CE 9] do]&?

® 4v3cm @ 5vV3cm @152\/30111
@ 12v3 ® 5cm

cm
)

B

AABD °1]*1E:E~sin60°:10x\/?§:5\/§

AADE d]Aiﬁ:E-sinGOC’:sx@x‘/?g:l—;
153

ADCEoﬂH@:i:léx V3 = (cm)

tan 30 °© 2 2




14.

x of TSt o)A A A ax? —2x +8 =0 9] §F 2¢] 28in90° — 3 cos0°

d o, a o gh= 5HE?

@-0 @ -2 @ ® 6

O AA ax? -2x+8 = 0 9 x = -1 2 YA, ax (-1)2 -
2x(-1)+8=0
a+2+8=0,a=-10
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@ sin45° = cos45° @cos48°>cos38°
@ tan35° < tan40® @ sin37° < cos37°
@sin56° < cosH6 °

B

@ cos48° < cos38°
@ tan35° < tan40°

@ sin37° < cos37°
® sin 56 ° > cos 56 °




